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1. Which one is right for the differential equation 0.1y +11y + 100y = 40000
cos400t?
(A) It is a homogeneous differential equation. (B) It is a second-degree differential
equation. (C) It is a differential equation for an application to RLC-circuit. (D) It
is a nonlinear differential equation. (E) It is a partial differential equation.
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51D The answer is (A)

2. Find the inverse Laplace transform of Y(s) =

1 1 —t —t
2t+2te (B) t+2te (C) .z te (D) t+te (E) t+2te

3. The period function f(x) = x* if |x <z and f(x+27) = f(x), then the constant
term of Fourier series of f(x) is (A) 0 (B) % ©) %7[ (D) %;;2 (E) %;;3

4. If the Fourier transform of f(x) = e is %e*wz“‘.Then the Fourier transform
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. Solve the the Laguerre’s ordinary differential equation: ty + (1- t)y + 3y = 0. Then
y =

Find a general solution of differential equation X’y —xy +y = xIn|x . Then y(t)

o dx

Find the integral I_

= by Residue theorem.
1+ X

Then the answer is

73 02 -37

If matrix A= |-115 1 55 |and X is the matrix with its eigenvectors. Hence
177 1.8 -93

(1) matrix X =

(2) if matrix B = X*A3X, then B =




